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1. (A)        ?      
     .  14 

  
  (1)     . 7 

  (2)       . 7 

 (B)     (  ) 4 

  (1)   
   (a)      (b)      
   (c)  (a)  (b) (d)     
  (2)            ? 

   (a)  , 1961 (b)  , 2013 

   (c)   (d)    
  (3)     
   (a)    .  (b)    .  
   (c)     .  (d)    
  (4)        
   (a)       .  
   (b)      .  
   (c)      .  
   (d)      .  
  (5)          ? 

   (a)  (b)   
   (c)   (d)  

  (6)       
   (a)    .  (b)   .  
   (c)   .  (d)     .  
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2. (A)      . 14 
                              
  (1)      .  7 
  (2)     .    7 

 (B)      (  )   4 
  (1)          ? 
   (a)   (b)    
   (c)    (d)   
  (2)       
   (a)    .  (b)    .  
   (c) , 2013  .  (d)   . 
  (3)     
   (a)     .  
   (b)    .  
   (c)     .  
   (d)     
  (4)    
   (a) Ind AS    . (b) IFRS    .  
   (c) IAS    . (d)   
  (5)      
   (a)  .  (b)  .  
   (c)  212 .  (d)   .  
  (6)       ? 
   (a)    (b) ... 
   (c)    (d)   
 
3. (A)      :   14 
  (1)    .  
  (2)    . 31/1/18  ` 50,00,000      

 .          . 15/3/18 
  .   . 31/5/18   .     
 15/4/2018       60%     . 

        -4  .  
  (3)    ` 5       .   

 ` 50  .   10  .      
  .  

      10            
   ? 

   (i)     ` 1.90     
   (ii)     ` 2.60   .  
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  (4)      ` 10,00,000  1-4-2017  31-7-2017  
      .      
  .         .  

      18 - -      
  .  

  (5)            
  : 

   (i) . 1-4-2017   10,000     ` 100 .  
   (ii)     . 31-12-17; 10,000   ` 100  

  ` 50 .  
  

  (1)  X        .     : 7 

   (i)     
   (ii)  ()    
          
   (a) 2,00,000    ` 10   
   (b) 10%     20,000  ` 100. 
   (c) 12.5%    ` 50 ` 50,00,000. 

     : 
   (i)       ` 6,75,000. 
   (ii)   30%. 

   (iii)    2,00,000       ` 25 ` 15 
 . 

   (iv)    6     .  
   (v)   4     .  
   (vi)     10%. . 
  (2)           ?   . 7 

 (B)    : (  )   3 

  (1)      1        ? 

   (a)  (b)  
   (c)    (d)   
  (2)             ? 

   (a)            . 
   (b)      .  
   (c)          .  
   (d)     
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  (3)   10   .  
   (a)   (b)    
   (c)     (d)    
  (4)  ()     
   (a)        
   (b)      
   (c)            
   (d)     
 
4. (A)    .   ,     

 .    14 
  

  (1)         17   
  .   7 

           (`  ) 
            
 A B C  

 3000 100 100 3200 

 1200 140 160 1500 

  550 55 45 650 

  (2)              
.        .  7 

                                         (` ) 
 

  
P1 P2 P3 P4 P5  

  2250 600 375 750 420 4395 

 4500 750 750 1050 600 7650 

 () 750 (300) (90) 150 75 975 (390) 

  (B)    : (  )   3 
  (1)        ? 
   (a)    (b)    
   (c)    (d)    
  (2)       ? 
   (a)   (b)   
   (c) (a)  (b)  (d)   
  (3)       ? 
   (a)   (b)    (c)   (d)  
  (4)       ? 
   (a) 10% (b) 20% (c) 30% (d)    

________  
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1. (A) What do you know about financial information ? Explain about factors affecting 

evolution of accounting practices of disclosure and essential qualities of good 
financial report.  14 

OR 
  (1) Discuss qualitative characteristics of financial reporting. 7 
  (2) Write a note on users of corporate financial report. 7 

 (B) Select correct answer : (Any Four) 4 
  (1) Financial information can be 
   (a) only qualitative (b) only quantitative 
   (c) both (a) and (b) (d) only figures base 
  (2) Which of the following factor has played role for evolution of accounting 

disclosure ? 
   (a) Income Tax Act 1961 (b) Companies Act, 2013 
   (c) SEBI (d) All of the above 
  (3) Corporate financial information is for 
   (a) External users  
   (b) Internal users 
   (c) Internal and external purposes 
   (d) All of the above 
  (4) Potential investors are not using corporate financial report  
   (a) to know earning capacity of the company. 
   (b) to know economic condition of the entity. 
   (c) to know the future plans of the company. 
   (d) for making government policies. 
  (5) Which of the following is not important assumption of financial statement ? 
   (a) Understandability (b) Consistency 
   (c) Going concern (d) Accrual base 
  (6) Qualitative characteristics make corporate financial report 
   (a) Understandable (b) Relevant 
   (c) Reliable (d) All of the above 
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2. (A) Explain legal provisions of corporate Financial reporting. 14 
                            OR 
  (1) Distinguish between mandatory and voluntary disclosures. 7 
  (2) Write a note on Voluntary disclosure.  7 

 (B) Select correct answer : (any Four)   4 
  (1) Which is irrelevant for quality improvement of corporate financial report ? 
   (a) Timing (b) Context 
   (c) Communication (d) Stakeholders 
  (2) Preparation of cash flow statement is recommended 
   (a) by SEBI (b) by IRDA 
   (c) by Companies Act, 2013 (d) None of the above 
  (3) Ratio presentation is requirement of  
   (a) Voluntary qualitative discloser 
   (b) Voluntary disclosure 
   (c) Voluntary quantitative disclosure 
   (d) None of the above 
  (4) AS in India are being replaced by 
   (a) Ind AS (b) IFRS 
   (c) IAS (d) All of the above 
  (5) Profit deals with under provision of 
   (a) SEBI (b) IRDA 
   (c) Section 212 (d) Accounting standard 
  (6) What is not correct for corporate Governance ? 
   (a) Cadbury committee (b) RBI 
   (c) Kumar Manglam Committee (d) SEBI 
 
3. (A) Answer any Three :   14 
  (1) Explain fundamental accounting assumptions. 
  (2) A regular customer of a company to whom goods of ` 50,00,000 were sold 

on credit on 31-1-2018. This financial conditions becomes suspicious and it 
was reported on 15-3-2018. The account of the company were approved on    
31-5-2018. The same customer became insolvent on 15-4-2018 and only 
60% amount was received from him. 

    Explain provisions of AS 4 for this case. 
  (3) Hemant company had required one fixed assets for ` 5 crore. The expected 

scrape value was of ` 50 lakhs. Estimated life was as 10 years. At the end of 
6th year asset became antiquated. How would you deal with the following 
transactions under AS 10 of Fixed assets. 

   (i) If net-realisation of the asset is of ` 1.90 crores.  
   (ii) If net-realisation of the asset is of ` 2.60 crores. 
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  (4) Gunjan company limited paid ` 10,00,000 as commission to Mr. Dhaval for 
his services from 1-4-2017 to 31-7-2017. Mr. Dhaval is relative of 
managing director of the same company. There were no subsequent 
transaction with Mr. Dhaval. 

    How would you deal with transaction under AS 18 of Related Party 
disclosure. 

  (5) Determine weighted average number of equity shares of Bhavik Ltd. from 
the following information : 

   (i) Shares outstanding on 1-4-2017 10,000, Face value and paid up value 
of ` 100 each. 

   (ii) New issue on 31-12-2017 10,000 of face value of ` 100 and paid up 
value of ` 50 each. 

OR 
  (1) You are provided following information of X company Ltd. you are asked 

to calculate    7 
   (i) Earning per incremental share 
   (ii) Diluted earning per share 
   Information about capital structure 
   (a) 2,00,000 equity shares of ` 10 each. 
   (b) 10% convertible preference shares 20,000 of ` 100 each. 
   (c) 12.5% convertible debentures of ` 50 each. ` 50,00,000  
   Other information : 
   (i) Net profit after tax, attributed to equity shareholders ` 6,75,000 . 
   (ii) Tax rate 30%. 
   (iii) 2,00,000 equity shares are issued as right issue @ ` 15 per share and 

average fair value of equity share is ` 25. 
   (iv) Each preference share will be converted into 6 equity shares.  
   (v) Each debenture will be converted into four equity shares. 
   (vi) Dividend distribution tax rate is 10%. 
  (2) How would you determine cost of self-constructed fixed assets ? Illustrate 

you answer.   7 

 (B) Select correct answer : (Any Three)   3 
  (1) Which of the following factor is not in the choice of accounting policy 

under AS-I ? 
   (a) Prudence (b) Materiality 
   (c) Substance over form (d) Consitency 
  (2) Which of the following dates are used to determine status of event 

adjustable or non-adjustable ? 
   (a) Balance sheet date and date of approval of accounts in the meeting of 

BOD. 
   (b) Balance sheet date and date of event. 
   (c) Balance sheet date and date of approval of accounts in the meeting of 

shareholders. 
   (d) None of these 
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  (3) AS 10 is applicable to 
   (a) Forest (b) Live stock  
   (c) Plant and machinery (d) Wasting assets 
  (4) Diluted EPS means 
   (a) More than Basic EPS  
   (b) Equal to Basic EPS 
   (c) No relation between Basic EPS and Diluted EPS 
   (d) None of the above 
 
4. (A) Explain concept of segment reporting. Discuss about causes, objectives and scope 

of segment reporting.   14 
OR 

  (1) From the following information of Jayraj Company Ltd. determine its 
reportable segment according to AS-17.  7 

           (` in crores) 
           Segments 
Items A B C Total 

Revenue 3000 100 100 3200 
Assets 1200 140 160 1500 
Results 550 55 45 650 

  (2) Ramnath Company Ltd. manufacturing five products with different rule of risk 
and return. From the following information determine reportable segments.  7 

                                         (` in crores) 
Products 

Items P1 P2 P3 P4 P5 Total 

External Sales 2250 600 375 750 420 4395 
Assets 4500 750 750 1050 600 7650 
Profit (Loss) 750 (300) (90) 150 75 975 (390) 

  (B) Select correct answer : (Any Three)   3 
  (1) What is not correct for segment reporting ? 
   (a) Primary segment (b) Secondary segment 
   (c) Area segment (d) Business segment 
  (2) What is not relevant for geographical segment ? 
   (a) Location of operation (b) Location of customer 
   (c) Both (a) and (b) (d) Nature of product 
  (3) What is not correct for reportable segment ? 
   (a) Revenue (b) Gross profit 
   (c) Results (d) Assets 
  (4) What is threshold limit for reportable segment ? 
   (a) 10% (b) 20% 
   (c) 30% (d) None of the above 

________ 


